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QUESTION 1

Which icon takes the user to the Relational Graph view? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

QUESTION 2

Which display setting shows elements as colored bars on a timeline? 

A. Traceability Matrix 

B. Gantt Chart 

C. Display news in the view 

D. Statistics 

Correct Answer: B 

 

QUESTION 3

Which button generates a report? (Note: Version 6.4 introduced minor changes to the icons; both are presented here.) 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 4

Where does the Workspaces link in the top menu take the user? 

A. to a list of workspaces the user has access to 

B. to a list of workspace templates 

C. to a list of all workspaces contained in the database 

D. to a list of workspaces the selected module is contained within 

Correct Answer: A 

 

QUESTION 5

Which strength of Rational Focal Point (RFP) is owed to its Pairwise Comparison feature? 

A. value-based selection 

B. win/lossanalysis 

C. unambiguous requirement validation 

D. requirements management 

Latest P2140-049 Dumps | P2140-049 VCE Dumps | P2140-049 Exam Questions                                3 / 4

https://www.geekcert.com/p2140-049.html
https://www.geekcert.com/p2140-049.html
https://www.geekcert.com/p2140-049.html


https://www.geekcert.com/p2140-049.html
2024 Latest geekcert P2140-049 PDF and VCE dumps Download

Correct Answer: A 
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